325

10.99

601

= | |
o | fA |
s 130 iWHM: é"qq l -090 (—J—H'Eﬂ'-"‘f»’ é Sﬁ e
T | i 7] > Tt
[ HAUS A HAUS B i
| £000 +016
| ¥ v
2 |
|
, ‘E 305 1 15
L s W e
E-DES -0,50 :
i GARAGE B8
| £0.00
| b A
| |
l | :
1 I
| 1<]A | ; 'E’,, i Ll
{LH_I__ ‘ _ e
g 197 i 797 +
L 1599 1 — 100
1 T
FREIFLACHENPLAN |
o BN e gy am smm e e s em mmm o
] el v — oo R B @) =
mittlere Grundstiickshéhe = -(1,3+0,9+0,5+0,55) /4 =-0,81 m
zuldssige WH =6,50i.M. => zul. OK=6,50-0,81 = 5,69m
ist It. Planung = 6,04 m { Stralle => dH = 6,04 — 5,69 =035m




